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it contains 30 questions.
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The Code No. on the top of the question paper should be written by the candidate -
on the front page of the answer-book.
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Before beginning to answer a question, its Serial Number must be written.
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Don’t leave blank page/pages in your answer-book.
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Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer."
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Candidates must write their Roll No. on the question paper. E}ccept Roll No. do not

write anything on question paper and don't make any mark on answers of objective
type questions. '
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Before answering the question, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after
examination. '
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(iii) TEF J97 F oF IG @ [T TT 8

(iv) STYR GUT FEFAT GG oK 79T B ogFT @7 AT qghTla T @ T W
[ g7t o

(v) 5 o a @ & gy ge (797 @er 11, 21 7 30) 7 ayiRa 97 JarT [T
77 & O et 7 evw /3 7 wgT 7 & B g% & 797 & 8l

General Instructions :

(i) This question-paper consists of 30 questions which are divided into three
Sections : 'A' (Physics), 'B' (Chemistry) and 'C' (Life Science). '

(ii) All questions are compulsory.
(iii) Marks for each question are indicated against it.

(iv) Your answer should be precise and to.the point according to the marks.
Answer the multiple choice questions by selecting correct option.

(v): Internal choice has been provided in all long answer type questions (Question
Nos. 11, 21 & 30) of 5 marks. You have to attempt only one of the given
choice in such questions. .

gus -3
SECTION-A
(+Afern o)
_ (PHYSICS)
1. Redl o g H e G 98 Wk P, S e FHwew @ 1
(A) a& B R gREc H= (B) d%] @ T A qREwa &
(C) g ® FvmeRen ¥ oRecH @ (D) ST Tl

Inertia is the property of a body by virtue of which, it cannot change by itself :
(A) Its direction of motion

(B) Its steady state of uniform motion

(C) Its state of rest

(D) All of these
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2. Freafoiad wot @ oy B 1

ST (A) R T (R), 597 & 2 RY 0 Swga Reed a1 =9 e g @ g
ST (A) : OFY ¥ B Aver 8, oAl B o om B

PR (R) : U I Ot # O B HIROT BT Bl

(A) AT R 9 & @ R, A Y 98 e ¥

(B) A9 RN ¥ § & R, Aaﬁﬂé’rwaﬁ%t

(C) Aﬂ'ﬂ%q‘{ﬁ R T8 B

(D) A S ¥ T R 6

The question below consists of twe statements '

Assertion (A) and Reason (R), answer the question by selecting the appropriate
option given below :

Assertion (A) : The cork floats while nail sinks in the water.

Reason (R) : This happens because of the difference in their densities.
(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true and R is not the correct explanation of A.
(C) Ais true but R is false.

(D) A is false but R is true.

3. TF IEG H FAUH 10 kg B TAT W GHN A b e ? 1
(A) 98kg (B) 9.8 kg
(C) 10kg (D) 98 N
Mass of an object is 10 kg What is its weight on the earth ?
(A) 98 kg (B) 9.8kg
(C) 10 kg (D) 98 N

4. F&d gU U A FE R A6 e e @ 7 1
A) Rafs S (B) IRt St

feggq et (D) o St

Which form of energy does the flowing water possess ?
(A) Potential energy | - (B) Kinetic energy
(C) Electrical energy (D) Gravitational energy

5. % omgral & B § SO at @ oL L FB ¥ AR T G T gEe o B
The sound which is produced due to a mixture of several frequencies is called
8 ..cossciiiaig and is pleasant to listen.

6. T 4T HR H THEHE @7 4 ms > 2l wﬁrmmﬁ% loa%ugqaa@agm?ﬁ
gl 7 % 7

A racing car has a uniform acceleration of 4 ms™. What distance will it cover
in 10 second after start ?
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7. e A B aReiE AT T e g R | :

Define average speed. Write its formula.

CIRE]

, OR
RO R Fed & 7 @RS @ gA e

Define acceleration. Write its formula.

8. @ P Yeer aur S 7 o fitaw | | 2

Distinguish between loudness and intensity of sound.

9. W B M T T T L, aﬁmaﬁzﬁ@mamaﬁ%ﬁ?ﬁaﬁ‘ﬂw*?
el el B, ﬁr%ﬁ@?aaﬁ% i ?

Why do you fall in the forward direction, when a moving bus brakes to stop
and fall backwards, when it accelerates from rest ?

10. fy=ioiiad i A died qRHNG S - 3
() RRafoer S
(i) srfert
Define the following with unit :
(i) Potential energy

(ii) Power
: GG
OR
1500 kg 5 @ HX @ o 60 km/h H 3T § T W &, ﬂaﬁ%%qﬁ;qnqmaﬁ
IO I 3

Calculate the work required to be done to stop a car 1500 kg moving at a
velocity of 60 km/h. '

11. (a) aﬁﬂmgﬁ%eﬂaaﬁrg&ﬁwmmﬁmm,ﬁrm&amaam
SRR e 5
How docs the force of gravitation between two objects change when the
distance between them is reduced to half ?

(o) TR & wehe e & e fofe p

Write the three importance of Universal Law of Gravitation.
GTEIE!T

(a) wﬁwwﬁﬁﬁﬁﬁwﬁw%ﬁm%%%
qfﬁ?

Why is it difficult to hold a school bag having a-strap made of a thin and
strong string ?
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12.

13.

14.

15.
16.
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(b)

g T ) 3 REeet &9 99 ST 8, 98 S9!

2505
ammmnﬁma%aﬂrﬁzﬁné@ﬁa6a%@qﬁmma@%wﬁz
RN Bl S AR 3
() o e 9 A IR FH .

() W & IE T ST Sl

(i1i) 4@%“‘&"13%%3%%1&“ '

A ball thrown up vertically returns to the thrower after 6 second. Find :
() The velocity with which it was thrown up.

(i) The maximum height it reaches.
(i) Its position after 4 second.
gus -¢
SECTION -B
(vere fo)
(CHEMISTRY)

................. hEadr B 1

The temperature at which a solid melts-to become a liquid at the atmospheric
pressure 18 called I8 onisismmuy :

ST Zq B ae0 @ A ST ¥ a9 A 9 A ¥ o) § SR T # SW & T

¥ =9 R & ST e @

(A)
(C)

)
qredreRRT (B) HHCHTH §
IUF=d Ay F (D) Ul STEae fafy &

When the liquid is spun rapidly, the denser particles are forced to the bottom
and the lighter particles stay at the top. This principle is used in

(A) Evaporation® (B) Chromatography

(C) Centrifugation (D) Fractional distillation

R 7 dhr-a A IRE ® 7 | '
(A) S ¥ HERT Th F G (B) WHEH W Th oA A fEer

(C) I N SFAHT AT T (D) SO HH

Which of the following is physmal changes ?

(A) Dissolving common salt in water. (B) Melting of butter in a pan.

(C) Boiling of water to form steam. (D) All of these :

FET TEEARES H TEEEE T i 1

Wwrite chemical formula of Carbon tetrachloride.

f Bl WA &K SR L BT AW E, ﬁwmﬁsﬁmﬁmwaﬁ? 1

(A)
€

2 (B) 8
10 (D) 18

P, Tl




X0

18.

19.

20.

21.

2505

(6)
If K and L shclls of an atom are full, then what would be the total
electrons in the atom ?

(A) 2 (B) 8 |
(C) 10 (D) 18

Frsrr o) Afs § & sfex R

Write two differences between mixture and compound.

TR (60 Fea § 7 TR H 0o SareRvl Ry ’
What do you mean by Isotopes ? Write one example of Isotopes.

SRE
OR

g SR AT oAl § s o R R

Write the distribution of electrons in Nitrogen and Magnesium.

(@) 25°C W d & A @ . e ?
What will be the physical state of water at 25°C ?
(b) T FH TN W ¥ &9 T ¥ I I Sl F G o § 7

2505
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2

Why are we able to sip hot tea or milk faster from a saucer rather than a

cup ?

gt S TR & et [72 Br(49.7%)] wur [& Br(50. 3%)] & &g F % S L

AT & A TRA] SHHM & IO i

3

If bromine atom is available in the form of, say, two isotopes [gg Br(49.7%)] and

[gé Br(SO.S%)] , calculate the average atomic mass of bromine atom:

(a) Frfatea gat g weRi Affee & T e
() AL(SO,);
i) K,SO,
(i) CaCO,

Write down the names of compounds represented by the following

formulae :
()  AL(SO,);
(i) K,SO,
(i) CaCO,
(b) www@ﬁ%?wwl

What arc polyatomic ions ? Give examples.

I
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arerar
OR :
(@)  SRTET & " @rEr Hifv | 3
() ==WE g
(i) w9RE

Explain with examples :
() Mass number
(ii) Isobars

(b) & fRreht ﬁsﬁaﬁiﬁfﬁms%aﬂﬂﬂaﬁfﬁﬁwaﬂs%aﬁ: 2
(i) 9T Eﬁ TR e /1§ ?
(i) YA T 91 ST ¥ ?
If number of electrons in an atom is 8 and number of protons is also 8,
then :
()  What is the atomic number of the atom ?
(i) What is the charge on the atom ?

gvs -q
SECTION-C
(cftr )
(LIFE SCIENCE) ar

22. AR H PH-AT 3T Rowiex T ? 1.
Which organelle is known as the powerhouse of the cell ?

23. TIRIT F WM 5 S6F F a9 Ay & ? _ 1
(A)  T=prEHr (B)  hierprzaT
(C) FRIHTEAT (D) ITIHT Ft
Which tissue makes up the husk of coconut ?
(A) Parenchyma (B) Collenchyma
(C) Sclerenchyma (D) All of these

24, G FHAF ... aﬁrwam%,ﬁﬁawzﬁrma%rﬁm%ﬁw%l 1

Nervous tissue is made of .............. that receive and conduct impulses.

25. frefifed & & dagw wed © | . 3
() e . (B) = |
(C) dYaedre (D) IR Y
Which of the following are finned fish ?
(A) Mullet (B) Bhetki
(C) Pearlspots (D) All of these
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26. I q A F ot wwEt A ARET FaR e F ST A Fed ol 1
(A) SHT T (B) STaHE R
(C) i@ wow - (D) ¥ &<t &=
Growing two or more crops in definite row patterns is known as .......... .
(A) Crop rotation (B) Inter-cropping
(C) Mixed cropping (D) Mixed farming system
27. GYUICH T FIRE UOE P Y§GT IOMRT F & aea R 2
Write two common management practices of animal husbandary and poultry
farming. _
28. TIEHEH H OMERT I F FEd 7 3
Why are Lysosomes known as 'suicide bags' ?
29. UF URY HRH H AHihd B s 3
Draw a well labelled diagram of a plant cell.
HYCT
: . OR
e AR T Sy ARE A 7 s R | 3
Write three differences between plant cell and animal cell,
30. (a) fF SR & o PR STRe % #1 FET #R § 7 o AW aand 2
i—lhow many types of elements together makeup the xylem tissue ? Name
em. '
(b) TR e & 7 w7 ffe | ' 3
Write three functions of Areaoler tissue.
STgar
_ OR ;
(a) AT F AR oy G 2
Draw a well labelled diagram of neuron.
(b) &4 Ust & a7 T freh 3

Write three features of cardiac muscles.
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